® & B
1. TELW RE/INERBKGENRBERIELSE
2. M 17 15 7 WAETREILEI=THE3—2
3. HA G LkEERNS S0 6F 18 318
4. REHLE RE/NERBKGENREREISICAEIBEREIE—RX-ERRFEIE—A




(B=%)

RE/NERIEK-HENERBFERIELSE FEMBEERNRE
w e F € 45,863,400 ]
I = i #% € 41,694,000 ]

HEMRE LS & 4,169,400 s]




2 RENEBRHBKENRBRIELISE No.
% b i 2 | Bifg i & % &

[BEEITEE)
HWERELS = 24,415,839
BEXRELIS = 4,730,357
N E 29,146,196

(€:355-9)

HERE = 3,120,528
HIGEEE = 4,501,339
—REBE = 4,926,920
INE 12,548,787
& &t 41,694,983
RETEEE (THME) FHRBIVYIET 41,694,000
HEMEHRLEE 10% 4,169,400
Rest(T=x®) 45,863,400




2 M RENERBK GHARBRIETLSE No. 2
£ {1 i = 2 | Bifg i £ &

I |HHREIS
1 WHBKERIELE = 19,062,943
2 BEKERIETSE = 337,788
3 HAEERETLS = 2,456,494
4 | BEIE (REMULNE ERESD) = 2,558,614

=11 24,415,839




2 B TR/ K B KRR e 15 [FFNER] No.
4 R T o # LT Bl &  FA i
I [ExEmLE
1 |EATER =y 500,720
2 |Eh IR =X 4,045,687
3 K SESHRAER =y 183,950
&t 4,730,357




